RESEARCH

Real Analysis Exchange Vol. 37(2), 2011/2012, pp. 279–290

S Ray, Department of Mathematics, Visva-Bharati University, Santiniketan-731235, West Bengal, INDIA. email: subhasis.ray@visva-bharati.ac.in T.K Garai, Department of Mathematics, Raghunathpur College, Raghunathpur, Purulia-723133, West Bengal, INDIA. email:

tg708410gmail.com

ON LAPLACE CONTINUITY

Abstract

Some properties of Laplace continuous functions and Laplace derivable functions are studied.

1 Introduction.

The Laplace derivative was introduced by Ralph Svetic [3]. Properties of this derivative were studied in [2] where the notion of Laplace continuity was given. In this article we study some properties of Laplace continuous functions and we prove that the space of all bounded Laplace continuous functions on an interval [a, b] is a Banach space with respect to the usual sup norm.

2 Preliminaries.

In what follows we shall use the special Denjoy integral which is equivalent to the Perron integral and the Henstock integral (see [1]). The integration by parts formula for this integral which will be used is stated here for convenience. For a proof see [1, p. 194, Theorem 12.19].

Theorem 2.1. Let $f : [a,b] \longrightarrow \mathbb{R}$ be special Denjoy integrable and let $F(x) = \int_a^x f(t)dt$ for each $x \in [a,b]$. If $G : [a,b] \to \mathbb{R}$ has Riemann integrable derivative g in [a,b] then,

$$\int_{a}^{b} fG = FG/_{a}^{b} - \int_{a}^{b} Fg.$$

Key words: Laplace derivative, Laplace continuity Received by the editors September 12, 2010 Communicated by: Brian S. Thomson

Definitions. If f is special Denjoy integrable we simply write that f is integrable. Let f be integrable in a neighborhood of x. Then f is said to be Laplace continuous at x if for a fixed $\delta > 0$

$$\lim_{s \to \infty} s \int_0^{\delta} e^{-st} [f(x+t) - f(x)] dt \text{ and } \lim_{s \to \infty} s \int_0^{\delta} e^{-st} [f(x-t) - f(x)] dt$$

exist and are equal to zero.

The function f is called Laplace derivable at x if

$$\lim_{s \to \infty} s^2 \int_0^{\delta} e^{-st} [f(x+t) - f(x)] dt \text{ and } \lim_{s \to \infty} (-s^2) \int_0^{\delta} e^{-st} [f(x-t) - f(x)] dt$$

exists and are equal. The common value is called the Laplace derivative of f at x and is denoted by $LD_1f(x)$.

Let $LD_1f(x)$ exist. If

$$\lim_{s \to \infty} s^3 \int_0^{\delta} e^{-st} [f(x+t) - f(x) - tLD_1 f(x)] dt$$

and

$$\lim_{s \to \infty} s^3 \int_0^s e^{-st} [f(x-t) - f(x) + tLD_1 f(x)] dt$$

exist and are equal, then the common value is called the second order Laplace derivative of f at x and is denoted by $LD_2f(x)$. Replacing "lim" by "lim inf" in the above four limits we get the definitions of

$$\underline{LD}_1^+ f(x), \ \underline{LD}_1^- f(x), \ \underline{LD}_2^+ f(x) \text{ and } \underline{LD}_2^- f(x)$$

respectively. Also we define

$$\underline{LD}_i f(x) = \min[\underline{LD}_i^+ f(x), \underline{LD}_i^- f(x)]$$

for i = 1, 2. The definitions of $\overline{LD}_1^+ f(x)$ etc are similar.

A function f is said to be Baire^{*-1} on [a, b] if every non-empty perfect set contained in [a, b] contains a portion on which the restriction of f is continuous. If a function f is Baire^{*-1}, Baire⁻¹, or Darboux on a set [a, b] then we write $f \in B_1^*[a, b], f \in B_1[a, b]$ or $f \in D[a, b]$ respectively.

It is clear that if $LD_1f(x)$ exists at x then f is Laplace continuous at x. The next Theorem is proved in [2] and [3] but for completeness we give a proof here.

Theorem 2.2. The above definitions do not depend on δ .

PROOF. Take $0 < \delta_1 < \delta_2$ such that $x + \delta_1$, $x + \delta_2$ is in neighborhood of x. Using Theorem 2.1

$$\int_{\delta_1}^{\delta_2} e^{-st} f(x+t) dt = e^{-s\delta_2} \int_{\delta_1}^{\delta_2} f(x+t) dt + s \int_{\delta_1}^{\delta_2} \left(e^{-st} \int_{\delta_1}^t f(x+\xi) \, d\xi \right) dt.$$

Now, $\int_{\delta_1}^{\delta_2} f(x+t)dt$ is bounded and $\int_{\delta_1}^t f(x+\xi)d\xi$ is bounded for $\delta_1 < t < \delta_2$, let M be the bound of both. So

$$\left|s\int_{\delta_1}^{\delta_2} e^{-st}f(x+t)dt\right| \le sMe^{-s\delta_2} + s(e^{-s\delta_1} - e^{-s\delta_2})M \to 0 \quad \text{as } s \to \infty.$$

This completes the proof.

It is easy to verify that, if f is continuous, then f is Laplace continuous. The next example shows that the converse is not true.

Example 2.3. Let

$$f(x) = \begin{cases} \sin \frac{1}{x^2} & \text{if } x \neq 0, \\ 0 & \text{if } x = 0. \end{cases}$$

Then clearly f(x) is not continuous at x = 0. We shall show that f is Laplace continuous at x = 0.

Let $g(x) = x^3 \cos \frac{1}{x^2}$ for $x \neq 0$ and set g(0) = 0. Then g'(0) = 0 and for $x \neq 0$,

$$g'(x) = 3x^2 \cos \frac{1}{x^2} + 2\sin \frac{1}{x^2} = 3x^2 \cos \frac{1}{x^2} + 2f(x).$$

Therefore

$$f(x) = \frac{1}{2}g'(x) - \frac{3}{2}x^2 \cos\frac{1}{x^2}.$$

Let $\epsilon > 0$ be given. Then there is $\delta > 0$ such that

$$\left| t^2 \cos \frac{1}{t^2} \right| < \frac{\epsilon}{3}$$
 whenever $0 < t < \delta$.

Hence

$$\left| s \int_0^{\delta} e^{-st} t^2 \cos \frac{1}{t^2} dt \right| \le \frac{\epsilon}{3} s \int_0^{\delta} e^{-st} dt$$
$$= \frac{\epsilon}{3} + o(1) \quad as \quad s \to \infty.$$

Now

$$\left| s \int_0^{\delta} e^{-st} g'(t) dt \right| \le \left| s e^{-s\delta} g(\delta) + s^2 \int_0^{\delta} e^{-st} g(t) dt \right|$$
$$\le \left| s e^{-s\delta} g(\delta) \right| + \frac{\epsilon}{3} s^2 \int_0^{\delta} t e^{-st} = \frac{\epsilon}{3} + o(1) \quad as \quad s \to \infty.$$

Hence

$$\begin{vmatrix} s \int_0^{\delta} e^{-st} f(t) dt \end{vmatrix} \leq \frac{1}{2} \left| s \int_0^{\delta} e^{-st} g'(t) dt \right| + \frac{3}{2} \left| s \int_0^{\delta} e^{-st} t^2 \cos \frac{1}{t^2} dt \right| \\ \leq \frac{1}{2} \frac{\epsilon}{3} + \frac{3}{2} \frac{\epsilon}{3} + o(1) \quad as \quad s \to \infty.$$

So letting $s \to \infty$, we get

$$\lim_{s \to \infty} \sup \left| s \int_0^{\delta} e^{-st} f(t) dt \right| < \epsilon.$$

Since ϵ is arbitrary

$$\lim_{s \to \infty} s \int_0^{\delta} e^{-st} f(t) dt = 0,$$

verifying that f is Laplace continuous at zero.

Remark 2.4. Let f be the function in previous example. Then, in a similar way, it can be shown that $\lim_{s\to\infty} s^2 \int_0^{\delta} e^{-st} f(t) dt = 0$. So $LD_1 f(0) = 0$.

3 Main results.

Lemma 3.1. Let $\delta > 0$ be fixed and f be integrable in $[x - \delta, x + \delta]$. Then for all s > 0,

$$\int_{0}^{\delta} \int_{0}^{t} e^{-st} f(x+z) \, dz \, dt = \frac{1}{s} \left[\int_{0}^{\delta} e^{-st} f(x+t) \, dt - e^{-s\delta} \int_{0}^{\delta} f(x+t) \, dt \right]$$

and

$$\int_0^{\delta} \int_0^t e^{-st} f(x-z) \, dz \, dt = \frac{1}{s} \left[\int_0^{\delta} e^{-st} f(x-t) \, dt - e^{-s\delta} \int_0^{\delta} f(x-t) \, dt \right].$$

PROOF. We shall prove the first identity; the proof of the second is similar. Using Theorem 2.1 we get

$$\int_0^\delta e^{-st} f(x+t) dt = e^{-s\delta} \int_0^\delta f(x+t) dt + s \int_0^\delta \left[e^{-st} \int_0^t f(x+z) dz \right] dt.$$

Hence

$$s \int_{0}^{\delta} \int_{0}^{t} e^{-st} f(x+z) dz dt = \int_{0}^{\delta} e^{-st} f(x+t) dt - e^{-s\delta} \int_{0}^{\delta} f(x+t) dt.$$

This completes the proof.

Theorem 3.2. Let $f : [a,b] \longrightarrow \mathbb{R}$ be integrable and $F(t) = \int_a^t f(\xi) d\xi$. If f is Laplace continuous at a point $x \in [a,b]$ then $LD_1F(x)$ exists and is equal to f(x).

PROOF. Define f(x) = f(b) for all x > b. Let δ be a fixed positive number. We have, for a fixed $x \in [a, b)$,

$$F(x+t) - F(x) = \int_{x}^{x+t} f(\xi) d\xi = \int_{0}^{t} f(z+x) dz.$$

Now by Lemma 3.1

$$\int_0^{\delta} e^{-st} [F(x+t) - F(x)] dt = \int_0^{\delta} e^{-st} \left(\int_0^t f(z+x) dz \right) dt$$
$$= \frac{1}{s} \left[\int_0^{\delta} e^{-st} f(x+t) dt - e^{-s\delta} \int_0^{\delta} f(x+t) dt \right].$$

Hence

$$\lim_{s \to \infty} s^2 \int_0^{\delta} e^{-st} [F(x+t) - F(x)] dt$$
$$= \lim_{s \to \infty} s \int_0^{\delta} e^{-st} f(x+t) dt - \lim_{s \to \infty} \frac{s}{e^{s\delta}} \int_0^{\delta} f(x+t) dt$$

Since f is Laplace continuous at x and $\int_0^\delta f(x+t)dt$ is finite

$$\lim_{s \to \infty} s^2 \int_0^{\delta} e^{-st} [F(x+t) - F(x)] dt = f(x).$$

Thus $LD_1^+F(x)$ exists and equals to f(x). Again take $x \in (a, b]$ then by Lemma 3.1,

$$\int_{0}^{\delta} e^{-st} [F(x-t) - F(x)] dt = -\int_{0}^{\delta} \int_{0}^{t} e^{-st} f(x-z) dz dt$$
$$= -\frac{1}{s} \left[\int_{0}^{\delta} e^{-st} f(x-t) dt - e^{-s\delta} \int_{0}^{\delta} f(x-t) dt \right].$$

So,

$$\lim_{s \to \infty} (-s^2) \int_0^{\delta} e^{-st} [F(x-t) - F(x)] dt = f(x).$$

Hence $LD_1^-F(x)$ exists and equal to f(x). This completes the proof.

Corollary 3.3. If f is Laplace continuous on [a,b] then $f \in D[a,b]$ and $f \in B_1[a,b]$.

PROOF. By Theorem 3.2 $LD_1F(x) = f(x)$ for all $x \in [a, b]$ where $F(x) = \int_a^x f(t)dt$. Since F is continuous on [a, b], by Theorem 8 and Corollary 4 of [2], $LD_1F \in D[a, b]$ and $LD_1F \in B_1[a, b]$. So the result follows.

Lemma 3.4. Under the hypotheses of Theorem 3.2

$$\underline{LD}_2F(x) = \underline{LD}_1f(x) \quad \text{for all} \quad x \in [a, b].$$

PROOF. For any $\delta > 0$ and using Lemma 3.1 we get

$$\int_{0}^{\delta} e^{-st} [F(x+t) - F(x) - tLD_{1}F(x)] dt$$
$$= \int_{0}^{\delta} \int_{0}^{t} e^{-st} [f(z+x) - f(x)] dz dt$$
$$= \frac{1}{s} \left[\int_{0}^{\delta} e^{-st} [f(x+t) - f(x)] dt - e^{-s\delta} \int_{0}^{\delta} [f(x+t) - f(x)] dt \right].$$

Now multiplying by s^3 and taking "liminf" as $s \to \infty$, we get

~

$$\underline{LD}_2^+ F(x) = \underline{LD}_1^+ f(x).$$

Again

$$\int_0^\delta [F(x-t) - F(x) + tLD_1F(x)]e^{-st}dt$$

ON LAPLACE CONTINUITY

$$= -\int_0^\delta \int_0^t e^{-st} [f(x-z) - f(x)] dz dt$$
$$= -\frac{1}{s} \left[\int_0^\delta e^{-st} [f(x-t) - f(x)] dt - e^{-s\delta} \int_0^\delta [f(x-t) - f(x)] dt \right]$$

 So

$$\underline{LD}_2^- F(x) = \underline{LD}_1^- f(x).$$

This completes the proof.

Lemma 3.5. If LD_1f exists on [a,b], then LD_1f has the Darboux property and the Baire 1 property.

PROOF. LD_1f exists on [a, b] so f is Laplace continuous on [a, b]. So, as in Lemma 3.4, we get that LD_2F exists on [a, b] and that $LD_2F = LD_1f$. Since F is continuous, by Theorem 17 and Corollary 14 of [2], $LD_2F \in D[a, b]$ and $LD_2F \in B_1[a, b]$. Hence, $LD_1f \in D[a, b]$ and $LD_1f \in B_1[a, b]$.

Theorem 3.6. If f is Laplace continuous on [a, b] and $\underline{LD_1}f > -\infty$ in [a, b], then $f \in B_1^*[a, b]$.

PROOF. Let $F(x) = \int_a^x f(t)dt$. So by Theorem 3.2 and Lemma 3.4 $LD_1F = f$ and $\underline{LD}_2F = \underline{LD}_1f$ in [a, b]. Since F is continuous on [a, b] by Corollary 13 of $[2], LD_1F \in B_1^*[a, b]$ and so $f \in B_1^*[a, b]$.

Theorem 3.7. If f is Laplace continuous on [a,b] and $\underline{LD}_1 f \ge 0$ on [a,b] then f is nondecreasing on [a,b].

PROOF. Let G be the set of all points x in [a, b] such that there is a neighborhood of x in which f is continuous. By Theorem 3.6, $f \in B_1^*[a, b]$ and so $G \neq \emptyset$. We show that G = [a, b]. Let $P = [a, b] \sim G$. Suppose $P \neq \emptyset$. Since G is open in [a, b], P is closed. Clearly P has no isolated point. For, if x_0 is an isolated point of P, then there are points $\alpha, \beta, \alpha < x_0 < \beta$, such that

$$(\alpha, x_0) \cup (x_0, \beta) \subset G.$$

Since f is continuous in $(\alpha, x_0) \cup (x_0, \beta)$, by Theorem 6 of [2] f is nondecreasing in (α, x_0) and in (x_0, β) . Since by Corollary 3.3, $f \in D[a, b]$, f is nondecreasing in $[\alpha, x_0]$ and in $[x_0, \beta]$ and so f is nondecreasing and continuous on $[\alpha, \beta]$. Thus $(\alpha, \beta) \subset G$, which contradicts $x_0 \in P$. So P is perfect. Since $f \in B_1^*[a, b]$ there is a portion $(c, d) \cap P$ on which f is continuous. Since f is nondecreasing in each contiguous interval, of $(c, d) \cap P$, f is continuous in (c, d) and so $(c, d) \subset G$ which is a contradiction. Therefore $P = \emptyset$ and so G = [a, b]. So f is continuous in [a, b] and the proof follows from Theorem 6 of [2].

285

Theorem 3.8. If LD_1f exists in [a, b] then for all $x, x + t \in [a, b]$ there is θ , $0 < \theta < 1$ such that

$$f(x+t) - f(x) = tLD_1f(x+\theta t).$$

PROOF. Let

$$g(z) = f(z) - \left[\frac{f(x+t) - f(x)}{t}\right](z-x).$$

We shall prove that there exists θ , $0 < \theta < 1$, such that $LD_1g(x + \theta t) = 0$. Suppose that $LD_1g(z) \ge 0$ for all $z \in [x, x + t]$. Then by Theorem 3.7, g is non decreasing in [x, x + t]. Since g(x) = g(x + t) the existence of θ is proved. If $LD_1g(z) \le 0$ the existence of θ is proved by a similar argument.

So suppose that there are ξ and η in [x, x + t] such that $LD_1g(\xi) > 0$ and $LD_1g(\eta) < 0$. Since, by Lemma 3.5, $LD_1g \in D[x, x + t]$, there is θ , $0 < \theta < 1$, such that $LD_1g(x + \theta t) = 0$. This completes the proof. \Box

Theorem 3.9. Let LD_1f exist and be bounded on [a,b]. Then LD_1f is Lebesgue integrable on [a,b] and

$$\int_{a}^{x} LD_1f(t) dt = f(x) - f(a)$$

for all $x \in [a, b]$.

PROOF. By Lemma 3.5, $LD_1 f \in B_1[a, b]$ and so $LD_1 f$ is measurable and, since it is bounded, then $LD_1 f$ is Lebesgue integrable in [a, b] and the function $F(x) = \int_a^x LD_1 f$ is absolutely continuous in [a, b]. Hence F' exists and $F' = LD_1 f$ almost everywhere. Also

$$|f(x+t) - f(x)| = |tLD_1f(x+\theta t)| \le M|t|$$

where $0 < \theta < 1$ and $M = \sup\{LD_1f(x) : x \in [a, b]\}$. Hence f is absolutely continuous and so f' exists almost everywhere. Hence $f' = LD_1f$ almost everywhere. So $\int_a^x LD_1f(t)dt = f(x) - f(a)$.

Theorem 3.10. If LD_1f exists and is bounded on [a, b], then LD_1f is Laplace continuous on [a, b].

PROOF. Since LD_1f is bounded on [a, b], by Theorem 3.9, for all $x, x+t \in [a, b]$

$$f(x+t) - f(x) = \int_{x}^{x+t} LD_1 f(\xi) d\xi = \int_{0}^{t} LD_1 f(x+u) du.$$

Now by Lemma 3.1

$$\int_{0}^{\delta} e^{-st} [f(x+t) - f(x)] dt = \int_{0}^{\delta} \left[e^{-st} \int_{0}^{t} LD_{1}f(u+x) du \right] dt$$
$$= \frac{1}{s} \left[\int_{0}^{\delta} e^{-st} LD_{1}f(t+x) dt - e^{-s\delta} \int_{0}^{\delta} LD_{1}f(x+t) dt \right].$$

Multiplying by s^2 and letting $s \to \infty$ we get

$$LD_1f(x) = \lim_{s \to \infty} s \int_0^{\delta} e^{-st} LD_1f(x+t)dt.$$

Similarly we can show that

$$LD_1f(x) = \lim_{s \to \infty} s \int_0^{\delta} e^{-st} LD_1f(x-t)dt.$$

This completes the proof.

Theorem 3.11. If f' exists on [a, b] then f' is Laplace continuous on [a, b].

PROOF. Since f' exists on [a, b], f' is integrable on [a, b] and for every x and t such that $x, x + t \in [a, b]$

$$\int_0^t f'(x+\xi)d\xi = f(x+t) - f(x).$$

See [1, p. 108, Theorem 7.2]. Hence by Theorem 2.1, for all $x \in [a, b]$,

$$s\int_{0}^{\delta} e^{-st} f'(x+t)dt = se^{-s\delta} \int_{0}^{\delta} f'(x+t)dt + s^{2} \int_{0}^{\delta} \left[e^{-st} \int_{0}^{t} f'(x+\xi)d\xi \right] dt.$$

Since,

$$\lim_{s \to \infty} \left[s e^{-s\delta} \int_0^\delta f'(x+t) dt \right] = 0$$

we get

$$\lim_{s \to \infty} s \int_0^{\delta} e^{-st} f'(x+t) dt = \lim_{s \to \infty} s^2 \int_0^{\delta} e^{-st} [f(x+t) - f(x)] dt = LD_1 f(x).$$

Since f'(x) exists, $LD_1f(x)$ exists and $f'(x) = LD_1f(x)$ [2, Remark 1]. This completes the proof.

Theorem 3.12. If $\{f_n\}$ converges uniformly to f in [a,b] and if each f_n is Laplace continuous at $x_0 \in [a,b]$ then f is Laplace continuous at x_0 .

PROOF. Let $\epsilon>0$ and $\delta>0$ be arbitrary. Since $\{f_n\}$ converges uniformly to f there is N such that

$$|f_N(x) - f(x)| < \epsilon \quad \text{for all } x \in [a, b].$$
(1)

Let $x_0 \in [a, b]$. Since f_N is Laplace continuous at x_0 there is M such that

$$\left|s\int_0^{\delta} e^{-st}[f_N(x_0+t) - f_N(x_0)]dt\right| < \epsilon \quad for \ s \ge M.$$
(2)

From (1) and (2)

$$\begin{aligned} \left| s \int_{0}^{\delta} e^{-st} [f(x_{0}+t) - f(x_{0})] dt \right| \\ &\leq \left| s \int_{0}^{\delta} e^{-st} [f(x_{0}+t) - f_{N}(x_{0}+t)] dt \right| \\ &+ \left| s \int_{0}^{\delta} e^{-st} [f_{N}(x_{0}+t) - f_{N}(x_{0})] dt \right| + \left| s \int_{0}^{\delta} e^{-st} [f_{N}(x_{0}) - f(x_{0})] dt \right| \\ &< \epsilon \left(1 - \frac{1}{e^{s\delta}} \right) + \epsilon + \epsilon \left(1 - \frac{1}{e^{s\delta}} \right) \quad \text{for } s \ge M. \end{aligned}$$

Letting $s \to \infty$, we get

$$\lim_{s \to \infty} s \int_0^{\delta} e^{-st} [f(x_0 + t) - f(x_0)] dt \le 3\epsilon.$$

Since ϵ is arbitrary, f is Laplace continuous at x_0 .

From this theorem one easily deduces the following corollary.

Corollary 3.13. Let LC[a, b] be the space of all bounded Laplace continuous function on [a,b]. For $f \in LC[a,b]$ define the usual sup norm

$$||f|| = \sup\{|f(t)| : t \in [a, b]\}.$$

Then LC[a, b] is a Banach space with respect to this norm.

Acknowledgement The authors wish to express their sincere gratitude to Prof. S. N. Mukhopadhyay for his kind help and suggestions in the preparation of this paper.

References

- R. A. Gordon, The integrals of Lebesgue, Denjoy, Perron and Henstock. Grad. Stud. Math. Vol. 4, 1994.
- [2] S. N. Mukhopadhyay and S. Ray, On Laplace derivative, Anal. Math., 36 (2010), 131–153.
- [3] R. E. Svetic, The Laplace Derivative, Comment. Math. Univ. Carolin., 42(2) (2001), 331–343.

S. RAY, T. K. GARAI